This week your student is learning how to solve problems that involve rates.
Using unit rates can help you find equivalent ratios or compare ratios.

Dear Family,

For example, a pastry recipe uses
3 cups of flour for every 6 servings.
Suppose you have 4 cups of flour.
Dividing 6 by 3 finds the number
of servings you can make per cup,
or the unit rate. Then, multiply the
unit rate by 4 to find that you can
make 8 servings.

Your student will be learning how to

solve problems like the one below.

Learning
Games

— x4 Match
?\\ [
Cups 0 1 3 4 —
| | | | [ .
[ T T T — Pizza
&
| | | | [ .
[ [ [ [ —
Servings 0 U 8 Cupcake

City A receives 21 inches of snow in 12 hours. City B receives 27 inches of
snow in 15 hours. Which city has a heavier snowfall rate?

» ONE WAY to find and compare rates is to use tables of equivalent ratios.

Divide to find the unit rate for inches of snow in 1 hour for each city.

-

Inches | Hours
21 12
1.75 1

P

24

Inches | Hours
27 15
1.8 1

» ANOTHER WAY is to use equations to find the unit rates.

Inches per hour for City A
inches — 21 _ . —
hours — 12 — 21 +12=1.75

Do

Inches per hour for City B

inches — 27
hours — 15

Since 1.8 > 1.75, City B receives more snow per hour than City A.

Using either method, City B has the heavier snowfall rate.
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LESSON 16 | USE UNIT RATES TO SOLVE PROBLEMS

Activity Exploring Unit
Rates

» Do this activity together to explore patterns

358

in unit rates.

Each table below represents a ratio and
two unit rates.

What patterns do you notice in each table?

The peregrine falcon, one of the world’s fastest birds,
has been known to fly at a speed of 4 miles per minute.

TABLE 1

Miles Minutes

8 2

4

~N

TABLE 2

Pounds Dollars

4 2

2

TABLE 3

Inches

5

LESSON 16 Use Unit Rates to Solve Problems

What patterns do you notice
between all three tables?
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Estimada familia: P

aprendizaje
Esta semana su nifo esta aprendiendo a resolver problemas sobre tasas. Usar tasas

unitarias permite hallar razones equivalentes o comparar razones. i
Por ejemplo, una receta de pasteles X 4 Match
lleva 3 tazas de harina por cada 4/__3/\\‘ t@
6 porciones. Supongan que tienen Tazas 0 1 3 4 ==
4 tazas de harina. Si se divide 6 entre I | | | F— Pizza
3 se halla el nUmero de porciones | | | | e l-lJ
que se pu?de_n preparar por ta.za,.o Porciones (') ; ! é sls Cupcake
la tasa unitaria. Luego se multiplica ~_

la tasa unitaria por 4 y se halla que w

se puede preparar 8 porciones. X 4

Su nifo aprendera a resolver problemas como el siguiente.

En la Ciudad A caen 21 pulgadas de nieve en 12 horas. En la Ciudad B caen
27 pulgadas de nieve en 15 horas. ;Qué ciudad tiene una mayor tasa de nevadas?

UNA MANERA de hallar y comparar tasas es usar tablas de razones equivalentes.

Se divide para hallar la tasa unitaria de pulgadas de nieve en 1 hora para
cada ciudad.

Ciudad A Ciudad B

Pulgadas | Horas Pulgadas | Horas
21 12 27 15
+12< >+12 +15< >+15
1.75 1 1.8 1

OTRA MANERA de hallar las tasas unitarias es usar ecuaciones.

Pulgadas por hora para la Ciudad A Pulgadas por hora para la Ciudad B
pulgadas — 21 _ . _ pulgadas — 27 _ . _
horas —» 13 — 21 7 12=1.75 horas —p 75 — 2/ T 15=1.8

Como 1.8 > 1.75, en la Ciudad B cae mas nieve por hora que en la Ciudad A.

Usando cualquiera de los dos métodos, la
Ciudad B tiene la mayor tasa de nevadas. C
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Usen la siguiente pagina para comenzar una
conversacion acerca de las tasas unitarias.
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LECCION 16 | USA TASAS UNITARIAS PARA RESOLVER PROBLEMAS

Actividad Explorar tasas
unitarias
» Hagan esta actividad juntos para explorar

patrones en las tasas unitarias.

Cada tabla representa una razén y dos
tasas unitarias.

{Qué patrones notan en cada tabla?

Se sabe que el halcén peregrino, una de las aves mas rapidas
del mundo, vuela a una velocidad de 4 millas por minuto.

TABLA1
N

Millas Minutos

8 2

4

TABLA 2

Libras Dolares

4 2

2

TABLA 3

Pulgadas

5

¢{Qué patrones notan entre
las tres tablas?
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Querida Familia,

Esta semana o vosso aluno esta a aprender a resolver problemas que envolvam
taxas. Usar uma taxa por unidade pode ajudar-nos a encontrar razoes

equivalentes ou comparar razoes. %4
. =3
Por exemplo uma receita de bolos usa 3 7\\

. . ~ chavenas 0 1 3 4
chavenas de farinha para cada 6 porcoes. I I | | >
Vamos imaginar que temos 4 chdvenas de | | | | |
farinha. Dividindo 6 por 3 encontramos o o ! ! ! T

3 . porcdes 0 2 6 8
numero de porgdes que podemos fazer por iﬁ/_/
chavena, ou seja, taxa por unidade. Depois X4

multiplicamos 4 pela taxa por unidade para
saber que podemos fazer 8 porcoes.

O vosso aluno vai aprender a resolver problemas como o mostrado abaixo.

A Cidade A recebe 21 polegadas de neve em 12 horas. A Cidade B recebe
27 polegadas de neve em 15 horas. Qual é a cidade que tem a maior taxa
de queda de neve?

» UMA FORMA de encontrar e comparar taxas é usar tabelas de razdes equivalentes.

Dividimos para encontrar a taxa por unidade para as polegadas de neve que caem
numa hora em cada cidade.

Polegadas | Horas Polegadas | Horas
21 12 27 15
+12< >+12 +15< >+15
1,75 1 1,8 1

» OUTRA FORMA é usar equagdes para encontrar a taxa por unidade.

sewa|qoad I9Aj0saYy eied apepiun 1od exe] Jesn)

Polegadas por hora para a Cidade A Polegadas por hora para a Cidade B
polegadas — 21 _ 5, . 15 _ polegadas — 27 _ 5o . 4z _
horas—bﬁ_21 ~12=1,75 horas—>15_27 ~15=18

Uma vez que 1,8 > 1,75, a Cidade B recebe mais neve por
hora do que a Cidade A. Usando qualquer um dos métodos, <° Usem a pagina seguinte para
a Cidade B tem a taxa mais alta de queda de neve. iniciar uma conversa sobre taxas.

©Curriculum Associates, LLC  Copying is not permitted. LIGAO 16 Usar Taxa por Unidade Para Resolver Problemas 357




LICAO 16 | USAR TAXA POR UNIDADE PARA RESOLVER PROBLEMAS

Atividade Explorar a Taxa por
Unidade

» Facam esta atividade juntos para explorar
padroes em taxas por unidade.

Cada tabela abaixo representa uma razao e
duas taxas por unidade.

Que padrdes encontram em cada tabela?

O falcao peregrino, uma das aves mais rapidas do
mundo, pode voar a velocidade de 4 milhas por minuto.

TABELA 1
N

Milhas Minutos

8 2
4

TABELA 2

Libras Dodlares

4 2
2

TABELA 3

Polegadas
5

Que padroes reconhecem
nas trés tabelas?
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AOPOrvUE POAUTENWA!

Ha ston Hepene Baw pe6eHOK Hay4nTCA pellaTb 3aa4 Ha OTHOLWEHUA. MCI’IOJ’Ib3)/FI
OTHOLUEHNEe «KOJINYeCTBO Ha eANHMNLY», Bbl CMOXKeTe HaxOANTb SKBMBaJIEHTHbIE
COOTHOWEHNA NN CpaBHNBAaTb COOTHOLLEHUA.

Hanpumep, cornacHo peuenTy BbiMeuku Hy>XHO % 4

3 YaLLKM MYKM Ha Kaxgble 6 NopuuiA. =3 T~
/\

MpeanonoXnMm, y BaC eCTb 4 YallKu MyKW. Yawkn 0 j 3 4

Pasgenus 6 Ha 3, Bbl HaAeTe KONNYECTBO } } } } }
MOPLIMIA, KOTOPbIE Bbl MOXeETe CAeNaTb C
MOMOLLbIO OfIHOW YaLlKK, TO €CTb «KOJINYECTBO

\/

\

|
[
Mopuyumn 0O 2 6 8

Ha egUHULY>». 3aTeM, YMHOXIB «KONINYECTBO Ha ~__
eVHNLY» Ha 4, Bbl y3HAeTe, YTO CMOXKeTe ~=3
NPUroTOBUTb 8 NOPLWIN. X 4

Baw pebeHoOK HayunTca pewwaTb 3ajaym Hanogobue NprBeAEHHON HIMXKe.

B ropoge A Bbinan 21 aonm cHera 3a 12 yacos. B ropoge b Bbinano 27 giorimos
cHera 3a 15 yacoB. B Kakom ropoge 6onee BbICOKUI ypOBEHb CHeronaga?

» OAWH CNMOCOB noacuntaTb 1 CPaBHUTb YPOBHU — UCMOMNb30BaTb TabNMLbl C
SKBUBANIEHTHBIMN COOTHOLLEHUAMMW. PazaennTe, YyToObl HANTY «KKONIMYECTBO Ha eAVHULLY»,
WA CKONbKO CHera BbinagaeT 3a 1 yac B KaXKgoM ropoge.

fopop A fopop b

Oionmbl | Yacbl Oionmbl | Yacbl

21 12 27 15

+12< 1.75 1 >+12 +15< 1.8 1 >+15

» OPYIFOW CMOCOB — 1cnonb30BaTh PaBEHCTBA, YTOObI HANTU «KOSIMYECTBO Ha eAUHULLY>.

KonuuyectBo alonimoB 3a yac B ropoge A Konunuectso flonmMoB 3a yac B ropoae b

AoMbl — 21 _ - _ nioimbl —p 27 _ . B
yacol —}ﬁ_m -12=1.75 yacol — 15 =27+15=1.8

he7ee mMHamad ndu «ANMUHUT'I BH 09193hUIFON» IUHIMOHL(

Mockonbky 1.8 > 1.75, To B ropoge b 3a yac Bbinagaet 6onbLie cHera, YemM B ropope A.

Kakon 6bl cnoco6 Bbl HU MCnonb3oBany, B ropoge b 6onee BbICOKNIA ypOBEHb
CHeronaga.

° Ncnonb3yiiTe HGOpMaLMio Ha CiegytoLein CTpaHuLe,
yTO6bI 06CYANTDL OTHOLLEHUS KKONIMYECTBO Ha €AVHMLY .
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YPOK 16 | OTHOLUEHME <«KOJINMECTBO HA EAUHULY» NPU PELUEHUU 3A0AY
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yﬂpa)KHEHI/IEZ n3yyeHne OTHOLWEHNA
«KONMNYECTBO Ha eAnHNLY»

» BbInonHuTe 3TO ynpa)KHeHNe BMeCTe, YTOObI y3HaTb
0 3aKOHOMEPHOCTAX OTHOLLEHUIA
«KOJINYECTBO Ha efuHMLY».

B kaxkgoi Tabnuue HuXKe NprBeaeHO OHO COOTHOLLEHNE
1 1Ba OTHOLLEHUS «KOJIMYECTBO HA eAUHNLLY».

KaKre 3aKOHOMEepPHOCTM MOXHO 3aMeTUTb B Kaxkaon Tabnuue?

TABJINLIA 1

CancaH — ofjHa 13 caMbiX 6bICTPbIX NTUL} B
MUpe, N3BECTHasA TeM, YTO MOXeT JieTaTb €O
CKOPOCTbIO 4 MU B MUHYTY.

Mwunn MuHyTbI

8 2

4

TABJIMLIA 2

QyHTbI Honnapbl

4 2

2

TABJIULIA 3

Aonmbl

o

YPOK 16 OTHoLUEeHMe «KONMYEeCTBO Ha eAnHMILY» NPW peLleHnm 3agady

Kakne cxofHble 3dKOHOMEPHOCTN MOXHO
3aMeTUTb BO BCEX TPEX Ta6n|/|u,ax?
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ARALIN

16

Mahal na Pamilya,

Sa linggong ito ay matututuhan ng inyong estudyante kung paano sagutin ang mga
tanong tungkol sa mga rate. Maaaring makatulong sa inyo ang paggamit ng mga
unit rate para makakuha ng magkakatumbas na ratio o paghambingin ang mga ratio.

Halimbawa, ang isang recipe sa paggawa X 4

ng pastry ay gumagamit ng 3 tasa ng s T
. . /\

harina sa bawat 6 na serving. Ipagpalagay Tasa 0 i 3 4

na mayroon kang 4 na tasa ng harina. | : : : :
Para makuha ang bilang ng serving na
magagawa sa bawat tasa, i ang unit rate,

Y

Y

|
|
Serving 0 2 6 8

i-divide ang 6 sa 3. Pagkatapos, i-multiply ~__
ang unit rate sa 4 para malaman na ~ =3
makakagawa ka ng 8 serving. X 4

Matututuhan ng inyong estudyante kung paano sagutin ang mga tanong na gaya
ng nasa ibaba.

Bumagsak ang 21 inches ng snow sa Lungsod A sa loob ng 12 oras.
Bumagsak naman ang 27 inches ng snow sa Lungsod B sa loob ng 15 oras.
Aling lungsod ang may mas mabigat na rate ng pagbagsak ng snow?

ISANG PARAAN para matukoy at mapagkumpara ang mga rate ay gumamit ng
mga table ng magkakatumbas na ratio.

Lungsod A Lungsod B

Inches | Oras Inches | Oras
21 12 27 15
+12< >+12 +15< >+15
1.75 1 1.8 1

ANG ISA PANG PARAAN ay gumamit ng mga equation para matukoy ang mga
unit rate.

buoue] ebw bue uipnbeg eied ajey yun ebw bue uniwen

Inches kada oras para sa Lungsod A Inches kada oras para sa Lungsod B
inches — 21 __ N _ inches — 27 __ N _
oras—}ﬁ_m =12=1.75 oras—»ﬁ_27‘ 15=1.8

Dahil 1.8 > 1.75, bumagsak ang mas maraming

snow kada oras sa Lungsod B kaysa Lungsod A. Selullnele BRI e e h il

ang talakayan tungkol sa mga unit rate.

Alinmang paraan ang gamitin, ang Lungod B ang
may mas mabigat na rate ng pagbagsak ng snow.
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ARALIN 16 | GAMITIN ANG MGA UNIT RATE PARA SAGUTIN ANG MGA TANONG

Gawain Pag-aaral ng mga
Unit Rate

» Magkasamang gawin ang gawain para pag-
aralan ang mga pattern sa mga unit rate.

Ipinakikita ng bawat table sa ibaba ang isang
ratio at dalawang unit rate.

Ano-anong pattern ang napapansin mo sa
bawat table?

TABLE 1

Miles Minuto

Ang peregrine falcon, na isa sa pinakamabibilis na ibon
sa mundo, ay nakalilipad sa bilis na 4 miles kada minuto.

~N

8 2

4

TABLE 2

Pounds Dollars

4 2

2

TABLE 3

Inches

5

Ano-anong pattern ang napapansin
mo sa tatlong table?
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Gia dinh than mén,

Tuan nay, hoc sinh sé hoc cach giai bai toan lién quan dén ti 1é. St dung ti l1é don vi
(unit rate) c6 thé giup hoc sinh tim ti & tuong duang hodc so sanh cac ti lé.

Vi du: mét cong thic lam banh can 3
c6¢ bdt mi cho 6 khau phan an. Gia s
c6 4 c6¢ bodt mi. Chia 6 cho 3 dé tim s6
khau phan an c6 thé lam vai méi coc
bot mi, hay tim ti Ié don vi. Sau d6, nhan
ti 1& don vi vGi 4 d€ biét rang c6 thé lam

dugc 8 khau phan an.

Hoc sinh sé hoc cach gidi nhiing bai
toan nhu bai toan dudi day.

BAI HOC

16

X 4

Céc 0
|
|

Khauphanan 0

Thanh phé A dat 21 inch tuyét rai trong 12 gid. Thanh phé B dat 27 inch
tuyét rai trong 15 gid. Hoi thanh pho nao co ti 1é tuyét roi day hon?

» MOT CACH dé tim va so sanh ti lé la dung bang ti 1é tuong duong.
Chia dé tim ti Ié don vi cho tiing inch tuyét rai trong 1 gid 8 méi thanh phé.

Thanh phé A

Inch

Gio

12

21
= 12<
1.75

1

e

Thanh phé B

Inch

Gio

27
+15<
1.8

15
>+15
1

» CACH KHAC la dung phuong trinh dé tim ti 1& don vi.

S& inch tuyé trong maéi gio &

Thanh phé A

s6inch—» 21
s6gic —» 12

Vi 1.8 > 1.75, nén Thanh ph6 B cé tuyét rai day han trong méi gid so véi Thanh pho
A. Dung mot trong hai cach, ta ¢ Thanh phé B ¢ ti 1é tuyét roi day hon.

=21+12=1.75

©Curriculum Associates, LLC  Copying is not permitted.

S& inch tuyét trong moi gié &
Thanh phé B

s6inch — 27 _
s6 gid — 15

27 +15=1.8

° Chuyén sang trang sau dé
thao luan vé tilé don vi.
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BAIHOC 16 | DUNG Ti LE DON VI DE GIAI BAI TOAN

Hoat déng Tim hiéu vé ti lé
don vi

» Cung nhau thuc hién hoat déng nay dé
kham pha quy luat trong ti Ié don vi.

Mdbi bang duéi day dai dién cho mét tilé va
hai ti 1é don vi.

Hoc sinh nhan thay quy luat nao trong moi
bang? Chim cat I6n, mét trong nhiing loai chim nhanh nhat
thé gidi, dugc biét 1a c6 thé bay véi van téc 4 dam trén
mot phut.

~N

Can Anh

e Ban c6 nhan thay quy lut nao
trong ca ba bdng trén khoéng?
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